
Changing Bases of Logarithms

Recall: The bases b = 10, e are used the most frequently.
So most calculators only have buttons for the these two bases.
They are typically written as: log(x) = log10(x) and ln(x) = loge(x)
What if we want to compute a logarithm in a different base?
One of our properties about logarithms will allow us to change the base

We saw the property: logb (xp) = p · logb (x)
We saw that since logarithms are the inverses of exponents we have:

x = blogb(x)

Taking the loga of both sides, we get:
Dividing this by loga (b) gives us the Change of Base Formula:

logb(x) = loga (x)
loga (b)

If we cannot compute the logb(x) on the left directly, then we can
compute the right hand side instead using base a = 10, e which we can
compute on a calculator!

http://coobermath.com/Exponential_Functions/Logarithms/Logs_frequent_bases.pdf
http://coobermath.com/Exponential_Functions/Logarithms/Properties_of_Logs/Properties_of_Logrithms.pdf
http://coobermath.com/Exponential_Functions/Logarithms/Logs_Intro.pdf
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